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[ ]=180+18

D: 10( cm)
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2.7L = 2700 mL = 2700 cm?

(7} T2 29| £o])= 2700 + (25 x 12) = 9(cm)

(U 52] £2] £0])= 2700 + (15 x 18) = 10( cm)

w2tA U 59 9] £0|7F10-9 = 1(cm) H EHYTh
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5X4x3=060(cm?)
A=) 2= + @
168 + 60 = 228( cm?)
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= (12-5) x4 x (3+3) = 168(cm?)
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D 864 cm? @ 576 cm? @ 240 cm?
@®)1488 cm? ® 1728 cm?

(18 x12) x8 — (5% 6) x 8
= 1728 — 240
= 1488(cm?)
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(=F9] Hu]) = (16 x 6 x 8) — (16 x 3 x 4)
= 768 — 192 = 576( cm?)
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! \ ! 2cm
! 4cm LS /
: ) 2cm
L | __ 2cm
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O 3871 @ 3671 @ 347Y @ 3271 @307}1

B \
(7F) 10 x 6 x 4 = 240( cm?)

(W) 2x2x2=8(cm?)

240 + 8 = 30

wk2kA 30 7
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2000 x| | = 8000
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